b Profeiinl PROFESSIONAL EXAMINATION BOARD
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board 25th Feb 2019 09:30AM

Topic:- Child Development & Pedagogy (CDP)

1) Autistic children mainly have difficultiesin ____ ./ Taddr (Gﬁﬁ'%ﬂi) =i | |
HiSAE 1t B

1. Vision / T8

2. Intelligence / g@'

3. Social interaction / ATATISIh HUh
4. Body movement / R Irfaeiferdr

Correct Answer :-

« Social interaction / GTATIoTd TUh

2) Applied Behavior Analysis is considered to be a more effective remedial method for:/

VY agR fazawr A & fore uer siftres gyurdt SueRTerss fafr wr=n i 2:
1. Dyslexia/ f3Eafaar

2.GDD / SRy

3. ADHD / TSITasy

4. ASD/ TTHS!

Correct Answer :-

« ASD/ TUTS!

3) Which of the following is not true about the team teaching method? / &9 e ugfa IR A

PafifRTd ¥ e g T8 22

1. Difficulties are faced in maintaining harmony among team members / T & Jell & dig gy ERIY RLGE
7 HieATsal &1 I A1 USd 8l

2. It is cheaper than other methods of teaching in terms of finances / g fag & Teu o Rreror & o= fafda ot
I | T ]



3. Teachers get better opportunities for optimal utilization of human resources / ATd JaTYT & garad ST
¥ fore e o JgR ¥R Hed |

4. It is a highly flexible method of teaching in terms of scheduling / & G3I-TAYRUT & TEaT &
fI8TUT T Teh 37T Tl alIehT &1

Correct Answer :-

It is cheaper than other methods of teaching in terms of finances / dg fog & deyf | fRreur & 3 fafda
&I ga H I g

4) Which of the following elements is there in problem-solving skills?/ fufsfea s s an
HET- AR SIRra & Wi 82

1. only the steps to reach the goal / $ad dd dH ITIEV?J%[ & TR
2. only the goal / Had a&d
3. only the problem / el FFHEIT

4. all of the above/ 3UJh THT

Correct Answer :-
o all of the above/ 3URIh T

5) A child thinks that because he wants to have pizza for dinner, his parents must want it too. What
type of thinking is this? / T T=IT 9iadl @ f& 9fer 98 Ia & @M & fore e arear 8, @ Su&
Arar-far &) off ot wife) g 59 yor 9t 9 72

1. Meta-cognitive thinking / <ITHAIcHAD (AT-HeTdlcAD) Rda
2. Egocentric thinking / Fadbfed (somafegs) Riaa
3. Abstract thinking / 3@#d Ria=

4. Psychotic thinking / ARG (FgHifed) Rida

Correct Answer :-
« Egocentric thinking / Tabfed (FmMafees) Raa

6) Learners learn best when / FRrandf ged =t avg WEd & oia

1. they listen to the teacher and obey all classroom rules. / & 18T &hr ard '{FFT % 3R wem & Tl
faTat @ aree R R
2. they understand the lesson and write good notes. /' fauT &I FHASTA § IR 3= Acy forwd B



3. they understand the relevance and are motivated to achieve the learning goal. / T YR dT Pl TqHSTA ®
3R AR F F&F B uF A F forw IR B B

4. they follow all rules and are quiet in class. / 3 gt Al &1 ua Hd % 3R e H i |d %I

Correct Answer :-

« they understand the relevance and are motivated to achieve the learning goal. / & UTHTIRAT B FHSAT &
AR 1A & o&F B 9@ A b faw aRT @ €

7) The seat of Intelligence in human brain is . [ °HId aferss & §'@ Cal aﬁ %I

1. Brainstem / SiTEcH

2. Cerebellum / 3-1?:1?1'%'&5 (B ooTd)
3. Cerebrum / GHTEISH (QISTH)

4. Spinal cord / #¥GUS (TABAS BIS)

Correct Answer :-

. Cerebrum / JHATETSH (TETH)

8) Which of the following is the best way to increase correct responses and appropriate
behavior? /

& gfafransit 3t 3T syaer & Te & v Arfef@a & & sila-a1 ge@ 3o ale &2
1. Punishment / &8

2. Praise / UMM

3. Ignorance / 31T

4, Strictness / T&Edl

Correct Answer :-

e Praise / uQ/r

9) Which method is used commonly for the diagnosis and treatment of behavioral problems of
exceptional children? /

HTYROT dTd] &1 FdegR ot FAEBT & Aee 3R 3R & Qv s3madk W &g
fafer &1 39l fFar smar &2



1. Survey method / TdgToT fafer

2. Case study method / g Tes A

3. Observation method / fAdreTor fafer

4, Experimental method / UAcHb Tafdr

Correct Answer :-

« Case study method / g Tes O

10) Which approach believes in teaching reading based on sounds? / eafoal & IMUR W
USA-qTesT # @i A1 Tieewor fFeard Far &2

1. Analytical / Ta&uuTcH®
2. Syllabic/ <regier
3. Global / Teitger
4. Phonic / ®Ifds

Correct Answer :-

« Phonic / ®Ifa®

11) According to Thompson, children can identify their own gender by the age of/ qIFqa & AR,
T WS TG & AT i g 39 3 F F AHh &

1. Five years / U/d ¥
2. Two years / G ay
3. Four years / I ay

4. Three years / dil a§

Correct Answer :-

« Three years / dil a§

12) What is the term used to describe a person’s tendency to remember positive rather than negative
experiences?/

THRICAF IHSAl F T FHRIAF G @A & fAv e sxfFa 6 ygfa #1 avfa w1 g
9g FT 39T AT STar 82

1. Rehearsal effect / Qareard gHTE



2. Retroactive effect / gdeardy gama
3. Lightbulb effect / oliscded UHTT
4., Pollyanna effect / GrelleddT JHTT

Correct Answer :-

* Pollyanna effect / Olelledl THTT

13) What is the full form of MBIT?/ THEI3TSE T qoF & 4T 82
1. Myers-Briggs test instructions / ArgA-foog o A

2. Myers-Briggs type of indicator / FTIY -9 ThR Hehclh

3. Myers-Bricks type of indicator / ATIA-TeFd YR Hhcdh

4. Myers-Bricks test instructions / Ay- oo gdiem Ay

Correct Answer :-

» Myers-Briggs type of indicator / AY-f998 PR Hhdd

14) What type of memory is sometimes referred to as nondeclarative memory? /

5w R & Ffa F Ff-FaR srevoneRs wfa F w9 A SET S g2
1. Autobiographical memory / HcHaaRd (3ictaranfthae) Fafa

2. Factual memory / J2ITcHS FHIA

3. Short term memory /eTg-ehlellel TR

4. Procedural memory / UfhdTcA® FHIA

Correct Answer :-

« Procedural memory / UfshdTcas EHfd

15) An assessment that is carried out throughout the course is called .

qE Ihell S I IRAHA H AR BT AT}, FEram gl

1. Formative assessment / IdATHSD H[h
2. Summative assessment / JNMcHD Hedihel
3. Diagnostic assessment / Acifdes Hedihe

4. Initial assessment / URTRP 3Theld



Correct Answer :-

o Formative assessment / XIATHD HTh A

16) Which of the following is not a form of bullying? / P#afaf@a # & Fla a1 sgamft &1 v w7

el §?

1. Teasing other children / 3= gt ol E‘EHI

2. Pushing other children / 31 gdl Pl Gahl Sl
3. Mutual exchange of lunches / o/ & UREIRE GaT-agell
4. Insulting other children / qa% Il T YA AT

Correct Answer :-

+ Mutual exchange of lunches / @ $I TREURE GalT-acelr

17) Which of the following clinical procedures are based in part on classical conditioning?/
ffaf@a & ¥ sla @ dafs afkan Fafsa FEafar ® smfia

1. Token economy / Eldhel ShIATHT

2. Two chair techniques / ¢ YIT Adheirchl

3. Transference/ TATATAXOT

4. Systematic desensitization / gafeud ﬁgmﬁm

Correct Answer :-

« Systematic desensitization / STATEAT iaﬂ?ﬂlﬁlaﬁiul

18) Which chromosome is responsible for determining that the child is born male? /

FeT W IE IE uiRa Fe & v seert gdar ¥ B aear A dar gam ¥2
1. Y chromosome / Y J[0THA
2. C chromosome / C J[UT{H
3. L chromosome / L J[0T{YH

4. X chromosome / X J[0THA

Correct Answer :-

* Y chromosome / Y J[UT{A



19) If a child has no problems with any schoolwork other than reading and writing, what could he be
diagnosed with? / If¢ P =2 A weat 3R rExr & sromar Pl 3o Tar w1 & FIS wHET
gt g, aF 39 Fuw AwRa fFar S awar 2

1. Learning disorder / 31fQ9rH faR
2. Communication disorder / IR PR
3. Mental retardation / HATATHD FHAT

4. Intellectual disability / difgeh 38T

Correct Answer :-

o Learning disorder / 3ifl9rd faaR

20) A child searches for an object where they previously found it even after they know it moved to
another location. This approach is seen because of limitations relating to ./ TF STar T Ot

T 1 TS FAT §, 61 T T6A 39 G W W S o & a16 o ard §1 Ig wfewior
¥ wefta Hamst & FRoT @ S g

1. Attachment/ 3{eJelaeieh (31¢THT)
2. Egocentrism/ Ty ($3I|ﬁic—§czﬂ)
3. Conservation/ TI&TOT

4. Object permanence / I&J TR

Correct Answer :-
 Object permanence / ¥ €I Ricd

21) Who developed a Psychosexual theory of human development from infancy onward? / derargedr @
AT RFE F1 tF AadRe Rqua Faa el

1. Erik Erikson / TR& sqamaa
2. Piaget / TOTS!

3. Sigmund Freud / fA9THAA W13
4. Vygotsky / aiSaNcachr
Correct Answer :-

« Sigmund Freud / 91 Wwras



22) The concept of intelligence is more related to: / 'sﬁajilﬂ? IHTUROT 3HY I0F FaOT &
1. Concrete thinking / JUTIqoT e

2. Intuitive thinking / ¥ga Rida

3. Rational thinking / JhaId id=

4. Emotional thinking / HTdaTcH® Ride

Correct Answer :-

« Rational thinking / d&&aTd ida

23) Rorchach ink blot test consists of / V2ATH FATEY &T ereaT GNETOT AT & FaT T &
1. 10 black cards and 5 coloured cards10 / @Tel T 3R 5 T o

2. 10 black and 10 white cards / 10 @Tel 3R 10 The T

3. 5 black and white cards and 5 coloured cards/ 5 @Tel 3R Thg T 3R 5 TN oot

4, 10 multicoloured cards 10/ E|§I'3i| U

Correct Answer :-

o 5 black and white cards and 5 coloured cards/ 5 &Tel 3 The g 3R 5 T T

24) When failures are punished during childhood, it leads to ./ 99 AEHAAIA F ATTaIaTF
gk ERa T ST @, St 9w # A AT

1. Negative reinforcement / ThRTcHD l:J,decl ol
2. Encouragement / SicaTgel
3. Persistence / T

4. Learned helplessness / 319131 faasrar

Correct Answer :-
« Learned helplessness / 31T9TeT faasrar

25) Maturity affects learning because it impacts -/ IRUFaar 3 &1 gsnfaa st & % I
favsr 9T wea ST &

1. Motor skills/ Ok apierer

2. Readiness/ dcddr



3. Cognitive capabilities/ TATATCHD &THATIT

4. Both motor and cognitive skills/ @il e 3R T<ATATcHD DIRTA

Correct Answer :-

o Readiness/ dcadrl

26) According to the Social Learning Theory, there are 4 necessary conditions for effective modelling.

Attention, retention and reproduction are 3 of these conditions.

Which is the 4™ condition? /

wrEAToE Hfte Ry & IR, yardt AsfaT & v 4 smaeas od &
T, TR 3R g F 3 ok §

atelt ot FT 77

1. Situation / fRfd

2. Attraction / 3TTehVOT

3. Imagination / Ul

4, Motivation / OO

Correct Answer :-
« Motivation / YO

27) Creating positive classroom culture falls under the domain of : / mam%iﬁgﬁraﬂ
A e A F raeta 3mar &

1. Social need / ATHAT ST TATh T

2. Affective need / ATdTcHD ITdADh ]
3. Psychomotor need JAATOIOT T ITIThdT

4, Cognitive need JAATCHD TIThdT

Correct Answer :-

» Affective need / ATATcHD HATIRIh ]

28) Which of the following can be described as a positive reasoning style for failure in achieving success? /

fAmafaf@a & & 91 awdaar yvd W F FFFAAT & AT tF TERICAF dF FTHT & T H



aftia #T a&ar §?
1. Environment problem / dTdTaRoNT THEAT
2. Medical and Psychological Reasons / fafehcar IR FAadfae dRT

3. Difficulty in writing / o/@e & HHATAT

4. Lack of Motivation and Interest to put efforts / THTd arola & forw oxom 3t s o1 3rema

Correct Answer :-
o Lack of Motivation and Interest to put efforts / THTd arola & forw ovom 3tk s o1 3rema

29) Some parents do not explain the rules but force the child to adhere to them at any cost. This type of
parenting is known as:/

Fo A-Rar At # sarea adt T § Afda a= F Gl ot Fra | A gew w9 F [
AT F 81 50 IHR At R A & w0 F e smar @

1. Permissive Parenting / 3-]@3‘65 W

2. Uninvolved Parenting / 3T A Tord RfEaT
3. Authoritative Parenting / 3T e
4. Authoritarian Parenting/ TaTarer Ufear

Correct Answer :-

« Authoritarian Parenting/ TdTaTey e

30) Studies in human development take into consideration the period from: / HIFHd faera A
Y 3 3MafY P = A 1@ 8

1. Conception to adolescence / TATYTT T FRRTaEdr
2. Birth to adolescence / STed & fehiRTaeT
3. Birth to death / e & #HIOT

4. Conception to death / LT & qcg

Correct Answer :-

« Conception to death / ITHTUTT & qY

Topic:- General Urdu(L1GU)
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Correct Answer :-
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Correct Answer :-

Ly

? ¢ 1 2o L NN
Py o2 & o by 2y

. ;E{TL,JJ v

2.

Urs?
3,

s
4.

U
7) .
< A4
JE
1.
JS &



, S

Correct Answer :-

. JE
8) i -"r"'r{ [a* ‘% e b (L - et
?%—JfLL.TaVJLE'JIQ".I Y. el o
A ESFES
1.
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3.
l Iﬁ[ﬂ;
Pl ) g
4. ¢ ;

Correct Answer :-

— L':I’L;j HL_;!JJI



L‘frlﬂ‘gf(l

Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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3.
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Correct Answer :-

‘_,L: , ..gl,fj LA 7 ..gl
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-
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Correct Answer :-

N
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Correct Answer :-

1980
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Correct Answer :-
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Correct Answer :-

( E{u&,&:‘i



1910
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1810
3.
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4,

Correct Answer :-

1910
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Correct Answer :-



29) {.%kr’yﬂsfcc&bfsa: o

Topic:- General Hindi(L2GH)

1) Af Tt 9o W AR & RifdT wdl F asEr Fan A A @@t wean o F9 g w6 g wmy
wmwzﬂ?ﬁmmﬁaﬁaaﬁuﬁwé meaft, gga arl A Ther @ AT TAT AT, YR H GG
F 0T W W AR W v 4| Ryar a8 a6a ¥ &F awaAsT 39 ﬁ#mmﬁwmﬁmm—{,
R HEHR TGO F& IFeT: AW a9 @ 73 a1, 59 # Faw & d& A 9% W W F I 41| hay & A
ifawahgamWﬁaanﬂﬁﬁaﬁﬁivﬁhm:ﬁgﬂﬁamlmaﬁwwﬁmmm
REd AT & Foes # R 3k @0 W g1y W@ a9 “arae F & grewEA A A st gaa & eI



¥ e, AT fr RAar Fentd)” sa@r smefee a1 ar A -ag ofem F S, o9t §F N 3 1 3
A ofad # at & wEE ImATl A A HY RE Td T A, Ranh e ®@, FO a9 Tl

3YYFA TCHYA T YGHT Al & AT G FT IR JABA:

- @ d@F F1 FF gHA W IAR FT Rad Temar?
1. qHATY

2. TH T #38

3. Slichedtd

4. GEIATY

Correct Answer :-

o ABATd
2) Af T T W AR &N RfaT wdlt B dsw Fan H BFad @ gean @ FX gem w6 ga @y
Wmm?ﬂ?ﬁmmm#uﬁm 3T, geat #maﬁﬁmwmwa?rtmé

5ot &l
F AT ¥ W A W@ 7w | RNyar 78 aga ¥ F mmﬁ#mm#wmﬁ-ﬂmw
T TEHER TGO F& IJA: AW a9 fr@mar = a, aa#a:aﬂa’raa?ﬁqméwwwmwm‘taﬁf#
ﬁa'{?ﬂgsrrlWﬁemﬁmmmwmﬁmlmaﬁwwmmm
emaﬁzﬁ%ﬂg#ﬁmaﬁrmwmwm- “qraeT HU F qreawma 1 fFae ot saa & eue
¥ e, maﬁrﬁmﬁaml"mmﬁaizmmﬁvsh-ansqﬁwﬁ:m T # AY =Y AT I
IR ofad # at & GFE MM A A Y A T T AT, Rarh qEE @, Fo O a2

39T AGHIT T YGH AR B AT G HT IR IABA:
- A@h T TGI§ W R FH Fam a& g A2
1. dh
2. IR dh
3.al d&

4. T%h db

Correct Answer :-

. a1 dd

3)ﬁﬁ§hqaéwma?ﬁlﬁﬁaw?ﬁﬁ a3H Fan A frare 7@t gean ww FH M FE ga A
FAST AT AT AY? Rar Fga- s & uﬁwémmvh anl A TR g AT TAT AT, YR A GG
F T W W AR W@ v ¥ Rar a8 aed & F awaAs 37 ##mm#wmmm
R TEFR TEOT F& IHa: A A0 fo@man @ a1, 59 # + aa?ﬁqaémwmmmmaﬁf#
#m?ﬂgmmﬁ?ranwaﬁﬁmsﬁmmwmam W#WWWWW
WREd AT & Foes # R 3R @0 W g1y W@ 91 ‘gt FA & grewsA A A st gaa & eI
& TR, A Y far e mmﬁaﬁzmmﬁvsﬁ;ﬂgw&mﬁ:m Y & AY D A« I
A ofed # & & wwE M A F Ay ET A e o, Rarht g @, 7O & a9



3YYFA TSHYA T YGHT Al & AT YT FT IR IABA:
T BE B B & w41 Fga §72
1. Ugell

2. 3t

3. gET
4, T

Correct Answer :-

4) AT TH goTE W SR &t Rifaa wdt & azar
FAFT AT AT A? Rar Fga- sada & I8 de1$

FaT F frard ¢ vgan ww F ghm w4 gg Ay
mmvh,qaﬁa # Ter &t AT T an'a?rqmé
F AT ¥ W A W a0 & RNyar 78 aga & F amHs 37 7 ﬁmmﬁhﬁwmmm
T FEHER TG0 F& FA: AW a9 fA@m ar a1, 59 & Faw ar a= frwéwwmwmlmaﬁf#
ﬁaﬁgmlwﬁwemﬁmmmﬂ?mamlWaﬁwwwmm
amﬁzﬁ%m#ﬁmﬁhmwmwaﬂﬁ- “qraeT U F dreawma 1 fFae ot gaa & eue
¥ g, A f frar e 3T 3mefiaie o1 a1 AW A ofem F WY, @i F A =S A9
3R ofad # at & BT MM A A Y A T T AT, Rarh qEE @, Fo & @

39T AGHIT T YGH AR B AT G HT IR IABA:
- ‘WA ST qATIare LT 8-
1. grfgd

2. AT
3. AT

4. YehIOA

Correct Answer :-

5) AT Tl qo§ W AN et Rifva wdll &F asa wanm A frard 7@ ggan o F& geml w6 gg Ay
mea?ﬁmﬁaahaaﬁqﬁqzémmh, a’rﬂmaﬁs}mwmwaﬁm
F QT X W A W@ 7w A RNar 78 9ea ¥ F Jmas 379 #mm#wmmm
R TEFR TEOT F& IHa: A A0 for@man @ a1, 59 F waw @ a= ﬁwéwwmmmmaﬁf#
ﬂm?ﬂ's’amwﬁ?renwaﬁﬁmsﬁmqum mlmaﬁwwmmﬂ
amﬁwa;ﬁgﬁﬁamaﬁrmwmwaﬁ- O & aregwA A frae ot gaa & eI
¥ e, #F f it P mmﬁaﬁzmmﬁvsﬁmqﬁmﬁam Y & A D A« I
3 ofgd & o F v ImAm A 7 Y RS TS w9 A, Rash gEE @, Fo A @l

39T I T YGH AR S AT G HT 3R IABA:
- ‘FIrAr 1 gAEarEr §?



1 36

W

2. 5cC
3.59H ¥ PIS AL
1. 60

Correct Answer :-

FaT F frard g vean ww F ghem FE gy Ay

mmvh,qaﬁa # Ter &t AT T an'a?rqmé
F AT ¥ W A W 7w &) RNyar 78 aga & F amHs 379 7 ﬁmmﬁhﬁwmmm
T FEHER TG0 F& FA: AW a9 fA@m ar a1, 59 & Faw ar a= frwéwwmwmlmaﬁfﬁ
ﬁaﬁgmlwﬁwemﬁmmmﬂ?mamlWaﬁwwwmm
amﬁzﬁ%m#ﬁmﬁhmwmwaﬂﬁ- “qraeT U F dreawma 1 fFae ot gaa & eue
¥ g, A f frar e 3T 3mefiaie o1 a1 AW A ofem F WY, @i F A =S A9
A ofed # @ & wwE M AT F A T A wen o, Raret qES @, TO a9 a9

39T AGHIT T YGH AR B AT G HT 3R TASA:
- Fger T Ueq 37
1. facel

2. dcHA

6) AT THell 9§ W IR Al Rifaa @t F asa
FAFT AT AT A? Rar Fga- sada & I8 der$

3. dgd

4. ST

Correct Answer :-

. facel

7) AT Tt gor$ W AR A&t Rifva Wl &F asa wanm A frard 7@ ggan o F geml w5 gg Ay
mea?ﬁmmahaaﬁqﬁqaémmh a’rlﬂmaﬁs}mwmwaﬁm
F QT W W A W@ v A Rar 78 9ga ¥ F Jmas 379 ##mm#wm-ﬂmm
R TEFR TEOT F& IHa: A A0 for@man @ a1, 59 F waw @ a= ﬁwéwwmmmmaﬁf#
ﬂm?ﬂ's’amwﬁ?renwaﬁﬁmsﬁmqum mlmaﬁwwmmﬂ
Qmﬁwaiﬁgﬁﬁamsﬁrmwmwm— O & aregwA A frae ot gaa & eI
¥ e, #F f it P mmﬁaﬁzmmﬁvsﬁmqﬁwﬁ:m,imﬁmmwm
A ofed # @ & wwE M AT F Y wEHT T e o, Rarht g @, 7O & a9

39T ACHIT T YGH AR S AT G HT 3R TABA:
- ‘9T ST YITIATE) e BN ?

1. 3frar

2. 7&d



3.9
4. 49

Correct Answer :-

8) AT Tl ol W IR il Rfaa et & asar wam F frad 7t ggan s HF geml FE ge @Yy
ammwﬁ?ﬁmmﬁ-sﬁaﬁﬁu?rwé TN, geat a’r#maﬁrﬁmwmwaﬁmﬁ
F AT ¥ W A W@ 7w F| Ryar 78 9aead & F amasT 379 ##mm#wmﬁmw
TR FEHR TGO F& IJd: AW a7 @ 3 a1, 59 # + aaﬁaﬁrméwwwgmmlma—éfﬁ
ﬁsn?hg:mlwﬁwemﬁmmmwmﬁmlmﬁuﬁwwmmm
anaaﬁw*ﬂg#ﬁmaﬁtwwmwﬂﬁ- U & drsashA A fha ot saa & eu=
T g, A f fiar e mmﬁaﬁzmmﬁvsﬁeﬂgqﬁmﬁ:m,aﬁ#mmmm
A ofed # @ & wwE M AT F A REHT A Fen o, Rart qES @, FE T a9

3YYFA TCHA T YGHT Al & AT YT FT IR IABA:
- ‘Tees W FIT AId 87

1. Poglst &

2.gocls A

3. e &1 U ada fSwd ug @ S ©

4. bl A

Correct Answer :-

. cd @1 v gdd gt T @ S ¥

9) AT Tl 9o1§ W &R &t Rifaa wdt B asar

$ frard 7@t vean uw & ghm w4 gg Ay
FART AW a7 ar? Rar Fga- Saa # 78 &

FeTT
1A 3T, qgat &Yl A TR A AT TAT I, an'a?rqmé
a:i%rnrwwmr@mmﬁmaﬁmaﬁ;mm##mm:?wmmw
TR FEHER TGO F& IJd: AW 7 fr@mar = a, mﬁamawﬁwéwwwwmlmaﬁfﬁ
ﬁaﬁgmlwﬁﬂ&mﬁmmmﬂ?mamlWaﬁwwwmm
emﬁﬁr%ﬂgﬁrﬁmﬁhmwmwaﬂﬁ- “qraeT U F dreawma 1 fFae ot gaa & eue
¥ g, A f frar e 3T 3mefiaie o1 a1 AW S-arg ofem F WY, @i F A =S A9
iy afed & @t & wEE I A F HY I A T o, RSt qEET @, 7O A @

39T AGHIT T YGH AR B AT G HT 3R IABL:
9eeA- AT Y AT & F T3h1?

L 3TEORT o & S

2. 3D @A

3.Ugs & HAGR o &

4. |IY & I S



Correct Answer :-

10) AT THe o W AR &t Rifaa et B asar Fwam v fraed 7@t ggan ow 4 gem w1 gg wnyg
FART AT AT ar? Rar Fga- g # T qor$ Fo7 3T, A ar FA Ther A@ AT TAT AT, Y HY GG
F T W W AR W@ 7w 4 Rar & g & & awwe 39 # F qoq w@eedt d gsa At @,
R TR TG F& 3 AW A @ 4 a1, J9 A F&7 @ aF H G W W F IH A1 A gof 7
#’awahgamwﬁaamﬁﬁaﬁﬁwraﬁmwwmam|maﬁwmammm
REd AT & Foes # R 3R @0 W g1y W@ a1 “araet F & grewsA A fhae st gaa & eI
& 9, A A R Brerstr s smehaiE or A1 AR S aReE By Y, O A Y ae dew I
3R ofad F ar F GFE AT AT A Y A A I A, Rl qEEa ®, Fo @ Ad

39T AGHIT P IGHT A S AT G FT 3R IS4
edA- AT fFE 19 W 3% AT 3 A7

1. plH W

2. AT A W
3.Uglf W
4. M W

Correct Answer :-

. TElE W)

11) AT FHe T W AR &t Rfaa et B asa wam i fFae 7@t gean ow F geml w1 gg anyg
AR AT AT ar? Rar FEa- S F T gor$ FT TN, g af| FA Ther w@T AT TAT AT, Y HY 9GS
$mmwmr@mmﬁmaﬁm#ﬁmm##mm#wmmw
TR FEHER T F& IJd: AW a7 fr@mar 21w i, aaira?maaaﬁﬁrméwwwmwmﬁﬁ
#an?l’rg:mlw%amﬁmmmwmﬁmlmﬁwwmmmm
&mﬁwa:ﬂg#ﬁmaﬁrmwmwm- “qraeT FU F greuHA 1 Faw it gaa & =
¥ e, A # R R 3T Jmefaie o1 a1 AW N-ar g F A, 9 F A e A9
3 ofed & ar F R I A A Y RS TS w9 A7, Rarsh gEEw @, Fo A @l

3YYFA TCHTYA T YGHT Al & AT G FT 3R IABA:
- d@F A e FaT F gYH T yrea fRE?
1. grady

2. 780

3. Ugell

4. Tt

Correct Answer :-

o Urgdy



12) A T o1 W AR ot Rifaa gt B asar Fwam i frared 7@t ggan ow 4 gem w1 gg anyg
FAFT AT AT ar? Rar Fga- g # T qor$ Fo7 3T, g ar FA Ther A@ AT TAT AT, Y HY GG
F T W W AR W@ 7w 4 Rar 7 awd & & awwe 39 # F qoq w@eedt A gsa At @i,
R TFPR TG F& 3 AV A @ 1 a1, J9 A F&7 @ aF H GG W W F IH A1 AW gof 7
#’awahgamwﬁaamﬁﬁaﬁﬁwraﬁmwwmam|maﬁwmammm
REd AT & Foes # R 3R @0 W g1y W@ a1 “araet F & grewsA A fhae st gaa & eI
& 9@, A A R Brerstr s smehaiE or A1 AR S aReE By Y, O A AY ae dex I
3R ofad F ar A ®FE AT AT A Y A A I A, Rl qEEwa ®, Fo @ @

39T AGHIT Y IGHT A S AT G FT 3R I3
- Rar S J@® ' 791 FaA7 RQA$?

1. BHAT AEPI et Y

2. gfafes e s &

3. 8T A Ugell TATH UTH el

4. fopcal A I @ Ug A

Correct Answer :-

o foraral o <O ¥ gge &Y

13)ﬁas~ﬁwéwaﬁ1a?ﬁ| TEdl % T3FT Fan A frae 7€ gedrl U FX gEM FE ga Ay
AR AW AT Ar? Rar Fga- aa ﬂﬁ%mwﬁ,malﬁwaﬁﬁmmmgmaﬁm
¥ T N W AR W@ 7T & Rrar 7@ awd ¥ F qas 37 d A qaq @O F gz aeltarats @i,
R TEFR TG F& HaA: AW A @ 1 a1, 59 F Fa7 @ aF H GG W W F g 91| AW oof A
ﬁaml’rgarrlmﬁﬂ%maﬁmmmﬂ?mﬁmlmaﬁwwmmmm
amaﬁzfr*m#ﬁmaﬁrmwmwaﬂsh “qraeT FU F greTHH 1 Faw it gaa & =T
¥ g, A £ frar e 3T 3mefiaie o1 a1 AW N-arE ofeE F AW, 9 F A =S A9
3R ofad F at & wFE ImAT A A Y A T TN A, Rarh qEEw @, Fo @@ g

39T AGHIT T GG AR B AT G HT IR TASL:
- Rar AFFTa @, 35 A€ A, IR aww 2

1. gU FITh &L U

2. U - I A

3. PeTT & UAH TAT o A
4. gets el dld A

Correct Answer :-

o BT HA YYH TAT o |



Al Fgelt 9er$ W AR A<t RifaT wdll B ase Fanm A A 7@ sean o HF/ gem FE g @Y qwa

) N

#Tar rar @7 Rar Fga- faa & 7€ 9o For el geA @l A Ther AE AT IR™AT AT, Y A GG F fAv
W W AR W@ a0 ¥ Rar 7@t aed & &F amas 37 F & qaq @ord & ggaw aehaals @y, @
UEFR TGN F& 3a: AW AW fA@rar 2w a1, 59 F Fam & aF A 9o W W F gH a1l AAY gof #F F
m?ﬁ's’smwﬁ?ranwafrﬁmsnmmwn?mamlaﬁm&raﬁrwwm\mmmaw
m#m#msﬂrmwmwm “qraeT FU fF reawA 1 fRae it A @ uer @
e, #F #r fiar B’ 3T Jmefiaie o1 a1 A Sh-are ol & ey, 9l F A 3=d Ae7 e ik
ofgd # @ # wFE 3w A A A AT T oo o, Rash g @, Fo O 79

39T I T YGHT AR S AT G HT 3R IdAS4:
T- AR UAsg A Pl @ F@AT 872

1. HTgdTah

2. cfcharadh

3. HHgaTah
4, Sfadras

Correct Answer :-

15) AT FHe 9o W AR &t Rifoa @t B as@n wam i fFrae 7@t gean ow F gem FE gg anyg
FAFT AT AT ar? Rar FEa- S F T qor$ FT T, oA afl FA Ther A@ AT TAT AT, Y HY GG
F AT W W AR W@ v A Rar & 9w & F qwws 37 A F qoq G F gz a9,
R TR TG F& 3 AV A @ 1 a1, 59 & F&7 @ aF H 9QE W W F gH a1 A gof 7
ﬂan?l’rgamwmamﬁmmmwmamlmuaﬁwwwmm
emﬁwa;ﬂgﬁﬁmsﬁtwwmwm- “qraeT U F qrsama 1 fFae ot saa & eue
F g, A f fiar P 3T amefiaie a1 a1 AW N-ar ofse F AW, o F A =Y A
A ofed # at & wFE 3w A A Y A T I o, Rash qEEwT @, Fo a9 ad

3YYFA TEHA T YHT A U 17 geal & 3o @30 :
veed- WREa’ F 7Y §?

1. e

2. 9TOT

3. Uil 3R QY T ©lel

4. M0

Correct Answer :-

o O 3R QAT FT oard

16) %ol @l # g dow
AGAA T FAGT AT,
gdt Sad T $ir fAor



idy Fr @ 37l et !

R FRA W TT |

e T R ¥ @1 oo,

AW ] T W FH FIT

A7 F1 O AT AT Faw|

39T TChNT F YGHT Al T AT YT FT I TS
9eel- ‘=lEr &1 QAdH gen?

18RI

2. o

3. |IT

4. IHAD

Correct Answer :-

17) %ot @ar & g daw
AGAS 1 FAT gRIATN,
gdt Sad I $ir fAor
gidr i =@ 3ore Fel |
e FR W aa |

few R s § @ s,
QATHE §] Tl T FHI §I;T
a7 1 X AT A Faw|

39T TSI F YGHT AT T AT YT FT I TS
Weel- ‘o7 & gATgard Adr §?

1. THUg

2. T

3. A

4. gt

Correct Answer :-

18) %ol Fat & g¥ o+
AGAA 61 FAA AT,
et Sad iy i Rt
it i =@ 35l FTel |
AR F X & dd W
e eRa *R ¥ @1 oo,



QUTHS 8] del T FHI g3
wwﬁrﬁﬁamml

39YFA ISIIT Y TG Al & AT YT FT 3R JA8:
- T &1 gAEA? oreg AET §2

1. g
2. FRA
3. |iaar
4. feerer

Correct Answer :-

o HU

19) ¥elt Far # g dow
AGAA $1 FAA AT,
et Sad iy i Rt
Tidr A =@ 35 FTel |

R FRRNaTT R

e eRa R ¥ @1 oo,
QITH 8] de W I g3

797 B1 AR foreter e Berh|

39T UEHIT Y YGHT AT T AT YT FT I TS
yed- ‘A FT R & awud §?

1. Rafgar

2.59H | IS

3. dicel

4. TId=

Correct Answer :-

. 3 F P AL

20) et @t # gy aow
AGAA 1 FAT AT,
et Saw Iy i Pt
qrdy Fr @ 357l STt !
AR F R R dd W
feer sfta sfix & w1 1w,
RATHE 8] T T FHI EIT
mmmmmml



3YYFA ISIIT Y TgHT Al Y& AT YT FT 3R IA8:
a- ‘AEA Usg fET § @ Fw§?

1 g

2. Eiferar

3.59H ¥ PIS AL

4. sagferT

Correct Answer :-

21) & @at # g dOF
AGHA A FAA gRIAT,
gdt Sad T ir fRor
gidr i =@ 3orel Fel |
el FR W aa |

e s s § @1 o,
QATHE 8] Tl T FHI §IT
mmﬁwﬁﬁa:ﬁaml

39T UGN F YGHT AT T AT YT FT I TS
WRA- AT FT HY 872
1. relm

2. hprell

3.3
4. IIRT

Correct Answer :-

22) %ot @t F g qow
AGAS A FAAT gRAT,
gdl Sad I ir fAor
arér @ # 357l Sre |
R F N A aT W

e sl s § @1 Fow,
QATHW 8 q U FHT gI;T
mmﬁtﬁﬁwmml

39T UEHNT Y YGHT Al T AT YT FT I TS
yeet - I #1 ot @ ot Wy ¥ S A w7 2



1.8 ¥
.99 4
3.0 |
4.9 |

Correct Answer :-

e Wdd

23) & @at # g daF
AGHA A FAAT gRIAT,
gdt Sad T fir fAor
gidr i =@ 3orel Fel |
el FR W aa |

ffe R s & @ s,
QATHE 8] Tl T FHI §IT
a7 F1 X AT A T

39T UGN F YGHT AT T AT YT FT I TS
weel- W ufed & FF F Fw Ry #1 aoier fFar 32
1. IeI-3Ude

2. 3D |

3. 3G & YPpid @r

4. U I &l

Correct Answer :-

o TG A Upfa B

24) et @t # gy aaw
AGHAA A FAAT gRAT,
gdt Sad T $ir fAor
arér @ # 357l Sre |
R F X & aT W

e T ¥R ¢ @1 oo,
QITH 8 e W T g3
A &1 O A Aia Faw|

39T UEHNT Y YGHT Al T AT YT FT I TS

weel- yEqd ufFaal F #R fFw v # e Anifea @At 2
1. 3R {4

2. Tgelerdl HEd



3. I & Feal I
4. Qell-Peil § SET UsT @1 siforar
Correct Answer :-

o IR B

25) &l @at # g daF
AGAT A FAT AT,
et Gaw I fir fFRor
grdr i =@ 3o Fel |
R FRX W TT W

few R s § @1 s,
QATHE 8] Tl T FHT g
a7 1 R AT AT Faw|

39YFA ISIIT Y TG Al & AT YT FT 3R I8
weA- ST &1 gaiarh A 87

1.9

2.3

3.9
4. QB

Correct Answer :-

o AIT

26) el @at # g daF
AGHAA A FAA gRIAT,
gt Sad T $ir fAor
gidr i =@ 3orel Fel |
el FR W aa |

ffe R s & @ s,
QATHE 8] Tl T FHI §IT
a7 F1 X AT A T

39T UGN F YGHT AT T AT YT FT I TS

weel- Hi H G F JEAGT W ART IR I3t F R REs & @ 32
1. 98 d

2. 9"

3. Tel

4. PIfd®



Correct Answer :-

27) et @t # gy aow
AGAST 1 FAT AT,
et o I & fAor
ardr 1 d 357l sredy |

AR F X R dd W

oo e s § @1 1o,
AW ] T W FH FIT

797 &1 R e Ao B
39T TChIT F TGHT AT T AT YT FT I TS
- ‘Aedl F W @ a7 W ufFd & sl a1 36K §?
1. 89
2. AR
3. ATATRIOT

4. ¥Uch

Correct Answer :-

28) %ot @Al F q¥ daw
AGAST 1 FAT gRIATN,
ot S I & Aoy
Tidr 1 € 37l SATelY |
R FAX W TT |
feer g 3T ¢ @1 Fow,
QATHE 8] Tl T FHI g
A F1 AT Pyt A waw

39YFA ISIIT Y TG Al & AT YT FT 3R I8
- ‘e gRa 3R & & Fia @ edR §72

1. 30T

2. T

3. §UH

4. 3UET

Correct Answer :-

o g



29) %ol @at # g daw
AGAST 1 FAT AT,
et Saw Iy fir Pt
ardr 1 d 357l sredy |
fFRVaTT R

oo e s § @1 1o,
QAT 8 T I FHI g
AN FT R AT AT waw|

39T TChIT F TGHT AT T AT YT FT I TS
wReA- ‘Y Y €Y I A FH FlF AT FEER §?
1. JH®D
2. 30T
3. ¥4
4. SUET

Correct Answer :-

30) eft Qal F R a@®
HAEHT & S giard,
foradt fora fa Y fopwol
TS P A Ioredt Sreh !
freid R TAWR

fRa aia ¥R & <51 3199,
A Y 79 TR FPT gal
Y o1 for e e was |

SUYT T I UgHT -1 D T UY BT ITR 9134

AT Y T TR FHT g3’

TR U # B 91 PR ® ?
1. IHb

2. 31FTE

3. §UH

4. 3cUeT

Correct Answer :-



Topic:- Mathematics (MAT)

1) 3c(a+ b)isa/an ./

3c(a+b)TH ____ Bl

1. algebraic equation / SSTOINT FHHIOT
2. monomial polynomial / THUET gaguc
3. binomial polynomial / fgudra ague

4. trinomial polynomial / Hudra sgue

Correct Answer :-
« binomial polynomial / fgucT Tgue

2) If the perpendicular distance of a point P from the x-axis is 8 units

and the foot of the perpendicular lies on the negative direction of x-axis, then the point P has: /
afe x-31&f & T fIg P 31 daaq gl 8 §oTE &

3R T BT UG x-31& Pt BUTad REM R fRa g, Afdgp A E:

1. Ordinate =8 / &If¢ = 8

2. Abscissa= 8 or -8 / #of = 8 3JYdl -8

3. Abscissa=8 / 33T =8

4. Abscissa=-8 / T = -8

Correct Answer :-
e Ordinate=8 / &ife = 8

3) If the CSA of a right circular cone is 12320 sq cm and its base radius is 56 cm, then its height is:
/

afe T W9 aq IP BT a5 THT TG 12320 a7 A9 qUT SHDT TR e s6 9 &, A swat
TS ©:

1.42cm / 42 @

2.24cm / 24 G

3.40cm / 40 T

4.2l cm/ 21 @



Correct Answer :-

e 42cm/ 42 QA

4) What is predecessor of natural number 1? /
WIpd BT 1 BT dad W o1 82
1.2

2.1

3. no predecessor / P Ydadl TEAT el &

4.0

Correct Answer :-

* no predecessor / g Ydad! TEAT el ©

5) Which one of the following is not an objective of scholastic assessment? /
frufaf@a § @ S1-91 gl & geaied o1 U 3239 781 22

1. Knowledge / <11

2. Analysis / IBELI

3. Comprehension / JHST

4. Attitude / FAGT

Correct Answer :-

o Attitude / AAGRT

6) A regular pentagon has perimeter of 45 cm. What is the length of one side? /
TP TH TTYS &1 URATT 45 A} 31 3P TH Yol B dqT5 fba-l 82

1. 9cm / 9 G

2. 9.5¢cm 7/ 9.5 ¥4

3. 7.5cm / 7.5 @l

4. 15c¢m / 15 @A

Correct Answer :-

e 9cm / 9 TIT



7 p*+qi-—=2®
Ifp=-2 q=3, and z=2_then find the value of P - !
- +pq—pqz

= pz+qq—35‘ B
e p=-2,q=3,7d =12 %,Fn' T Ald AT Fi|

E+Pq—qu
9
1 5
31
2 2
1
3 5
4. 19
Correct Answer :-
1
. 5
8) i 1 -
x2—5x+6 x2—7x+12 x —6x+8
1. (x-3)
2. (x-2)
3.0
4. (x-4)

Correct Answer :-



The diagonals of a rectangle PQES intersect at the point O_If
£P0OQ = 130° then £0RS =7

3T PQRS & &0l tehegay & fdg O X ufd=afaa #a
£1 afg ~POQ = 130°, 99 ~ORS =?

S =R
1 I
]
P Q
300
1.
P50
2.
130°
3.
500
4,

10) The area of sector of a circle of radius 10 cm and of angle 60° is Al

10 I3 H=r g2 60° HIUT a7 Uk Iod & Hod@s & a6 el

157 157
%sqcmffiaﬁm
157 157

Ei sqcmfia?rrm

167 167
. sqcmf—a?ﬁ'i‘zlﬁ
3.

4. 157 sqcm / 157 g7 qA

Correct Answer :-
157 157
gi sqcm [/ gia?‘r THT



11)
Given two right angled triangles PQF. and DEF _such that 2 (=30,

£D=30 and QP=DE write the correspondence if tniangles are congruent. /

ar wASIT Beget PQR IR DEFsH waR fev aw §fk 2Q=30. D =30 3R QP=DE
81 afg Bere waes & & geraar 9 &
, ARQP=AFED
, AQPR=ADFE
;. APQR=ADEF
, APQRAEDF
Correct Answer :-
APQRAEDF

12)
In APQR, £P = 90° and X is the mid- point of PR. The value of QR? — QX? is equal to .
| APQR#A, £P=90° T PR &I ALAMEG X 1 QR? — QX? & I = gl

| ,PX?
2. 3PX*
3. 4PX?
4 PX?

Correct Answer :-

. 3PX?



APQFE.is an isosceles triangle with PQ=PF_. Altitudes EF and QG are drawn to the sides P() and
PR from vertices R and (Q If one altitude RF is 3 cm and the base QR is 5cm then GE= A

APQR Us THefaarg fHeyet ¢ e PQ=PR Y| fideial RF 3R QG &I o Rwd Q&
a1 PQ 3R PR A% dien orar §1 afg v offeid RF3 & § 3 3mar QRS @&t
g.ar GR=__ |

l.4cm / 4 @

2.3cm / 3 G

3.5cm / 5 @A

4.6cm / 6 QA

Correct Answer :-

e« 4cm / 4 QA

14)
AD is a median of AABC and M is the midpoint of AD_Ifthe area of ABMD is 2.5 cm?, then the
area of AABCis . [

AABC &I U= AIfETaT ADE dar AD&T Aegfag ME1 I ABMD T &30 2.5
g2 8.9 AABC &7 &5%el 2l

1.20 cm? / 20 {2

2.10 cm? / 10 {2

3.5cm? / 5 ¥

4.25cm? / 25 Q2

Correct Answer :-

« 10 cm? / 10 Qa2

15)

R .1 s N . - .
Anu’s ageis ;d- of her mother’s age If Anu’s age is 12 then mother’s ageis /

3] T Y IFHT AT T G FT 1/3 §1 A 355 1 317 12 a9 . & A 1 37 &

1. 36



2.24
3.35

4. 30

Correct Answer :-

e 36

16)
The length of two trains T1 and T2 are 620 m and 480 m respectivelv. The length of the freight
train T3 is twice the sum of T1 & T2. Find the time required bv T3 to cover a post on the

1/

distance

platform if it has a speed of 20 m/s. [ime =
speed

ar &7 T1 va T2 &Y @as &H 620 Hex 3R 480 Hex &1 Arcensr T3 6 dan
¢ T1 wd T2 & a1 & [T &) G 5@t arfd 20 Hex@as &, a1 T3 garT s
TOCHhIH T Udh O & 9K & & (ol Haedd GHT Ad 17

1. 3 minute 10 seconds / 3 f@dc 10 Ahs
2. 1 minute 50 seconds / 1 f&de 50 AHs
3. 2 minutes 10 seconds / 2 fAde 10 AFhs

4. 2 minutes 40 seconds / 2 e 40 Abs

Correct Answer :-

1| minute 50 seconds / 1 f&ae 50 Ads

17)
Ix+y+2 _ 3x-y-1 +tiy+1
If 2 ; = x: % : . then find the value of x and v.
x+y+2 _ 3x-y-1 +3y+1 - :
gfg T2 =22 =2 B A xUd y & A AE
-13
X=-2,. v=—
: 5
1.
7
X=—-,v=-3
5
2.
1
K:'E:}':_
3.



Correct Answer :-

18)
If &z and B are the zeroes of the polynomial x% — 5x + k,wherea— f= 1,thenk=__. /

afe a Td B WEUG x* —5x +k & Yk Eapla—f= 18, dfk=_

1. —f
2.2
3.3

4.6

Correct Answer :-



Four figures are plotted on a graph sheet as mentioned in the following table.

Covered area Figure 1 | Figure 2 | Figure 3 Figure 4
Fully-filled 5 8 6 4
squares

Half-filled 7 _ 2 5
squares

More than half 4 4 _ g

filled squares

Less than half 9 7 _ _

filled square

Find the figure with larger area. /

o arfeler & afola ow ofic W IR 3es Bv v §

had fohar T | HihsIl | HIHRsSI2 | HIFHs13 HFsT4
AE]

o7 w7 T | 8 6 4

aat

3TEr Y &t 7 _ 2 5
e F ifEes | 4 4 _ 8
Gl

W F FF R | D 7 _ -

aat

Had g5 & &I 3NhsT AT i)

1. Figure 4 / A3l 4
2. Figure 2 / 373l 2
3. Figure 1 / 31Teh3T 1

4. Figure 3 / 3TehaT 3

Correct Answer :-

« Figure 4 / 3731 4

2 _ 4 3 _ 2
20) Find the value of 'k, if ¥ — ¥ T 1 isa factor of 2%~ T%° —1dx"+3k+6

4 3 _ 2z 2z _ .

1. -1

2.2

3.1



4.3

Correct Answer :-

21) Find the missing number in the following pattern. /

fFrafafad te & qu e gra #31

3.7

4.6

Correct Answer :-

22) Find the difference between the predecessor of 98701 and the successor of 9871. /
98701 & Ydad 3R 9871 & WRad! & dIT 3R HT 19 He |

1. 88832

2.2

3. 95000

4. 88828

Correct Answer :-
o 88828

23) Find the GCD of 10, 20, and 30. /
10, 20 30 30 T HEWH HAHTSP (GCD) FTd B3|
1.10
2. 60
3.15

4. 30



Correct Answer :-

24) A scaled down teaching encounter is known as i
AT (FPes s RMgurIgd _ FFUATHIAE@I B
1. Macro teaching / J&d fRI&ToT (FHshr &ifam)

2. Micro teaching / g&# fRI&T0T (FATSH! M)

3. Mastery teaching / 9dvor fRrefor (aredr Eifeiam)

4. Model teaching / Asa fAeqor (Asar A=)

Correct Answer :-

 Micro teaching / J&H RGN RCGIESTRAUED)

25) Postulates are assumptions specific to ./
Wil fiRred &Y saurume 71

1. trigonometry / FeproTfAfa

2. algebra / CISEIEG]

3. geometry / SITATT

4. arithmetic / 37pITTOTT

Correct Answer :-

+ geometry / SATTA T

26) ‘Algorithms De numero Indorum’ was a work on Arabic Arithmetic by ./
TANMNGU ST AN SSRT _ & §RIT 3RT IO W o a1 &1 7|
1. Al Kharkli / 37el @erell

2. Abil-Wefer / 3TfIre-dh

3. Omar Khayyam / 3#AY ©ZITH

4. Al-Khwarizmi / 3ToT-TaTReAT

Correct Answer :-

o Al-Khwarizmi / 3ToT-EaTe ]



27) is the ability for a child of two years who is able to distinguish between more and
less things when he/she is fit to consume food. /

3 T & T P &HAT @ S HISH BT SUHNT HA & e fhe g w®
3P 3R HH el & I 3 P34 # J&H 2|

1. Understanding of notations / Hdhdlel T TS

2. Recognition of numbers / TEIT &6 TgdT

3. Recognition of notations / Hobhd hT CERIG!

4. Innate number sense / TEST FEAT AT

Correct Answer :-
« Innate number sense / Jeol I&AT Ay

28) Rhombus is formed by joining the midpoints of the adjacent sides of a i
F 3maa yers ¥ eafagsi wt M & waagys a9ar 81
1. Rectangle / 3{1dd

2. Parallelogram / JHMIAR ISt

3. Rhombus / FHIJHST

4. Kite / gdar

Correct Answer :-

» Rectangle / 3Ad
29) The mean weight of 7 boys is 45 kg. The weights of 6 of them are

53 kg, 45 kg, 40 kg, 37 kg, 42 kg and 50 kg. Find the weight of the 7th boy. /

7 ISP BT HIH To 45 fHur 81 379 A 6 &1 9w 53 53, 45 3, 40 3, 37 5, 42 fam qur 50
feur 81 73 WSS &1 a9 JId B

1.42kg / 42 fpan
2.48kg / 48 foram
3.45kg / 45 fomam

4.50 kg / 50 fomarm

Correct Answer :-



o 48kg / 48 Tomarm

30) The degree of the polynomial (2x —8) + (8 —2x): /

a_§t|_(‘,(2;zc—8]l+ (8—2x) %1 a7d 2

1.1

31) The action verb for giving examples of different types of sets is ./
fafta yoR & wq=al & Il ¢ & forg frarere fear 3|
1. classifying / ToffepoT

2. comparing / Jefell
3. differentiating / ICLCG

4. listing / TRIOT
Correct Answer :-

« classifying / GafieTOT

32) The graph of the linear equation 2x +5y =10
E— |

@@ THtB0T 2x + 5y = 10 FTIE T @1 @ St g R x-31&1 A freran 21

1. (0,2)

is a line which meets the x-axis at the point

2.(1,2)
3.(5,0)

4. (2,5)

Correct Answer :-



33)
Which property is used to equate: /

Tifipd e & e [ qurent o1 v fHar s 8:

i.19 x 13 =190 + 57

ii. (-34 - 53) + 23 = - 34 + -30

1. i - Commutative property, ii - Associative property / i - pATATAAT IT, ii - FEART T[0T
2. i- Distributive property, ii - Closure property / i- fddRUIcHD 0T, ii - FHUA 0T

3. i- Commutative property, ii - Closure property / i - $hATafddAT IT, ii - HATUA I[OT

4. i - Distributive property, ii - Associative property / i - fdARUITEH® 0T, ii - FgaR! 0T
Correct Answer :-

* 1i- Distributive property, ii - Associative property /i - ﬁﬂTUW{IUT, ii - gAR ur

34) If P(3,-5) and Q(-3,-6) are two points, then abscissa of P-ordinate of Q
is: / T P(3,-5) Td Q(-3,-6) A R ¢, df Q & P-PIfe &7 Y 3:
1.0

2.3

35) Choose the solution for the equation: x+9 = 12. /
FHIEOT: x+9 = 12 & g FT IIT HYI

1.3

2.4

3.2

4.6

Correct Answer :-

e 3



36) Simon has a rectangular pond of length 210 m and width 165 m. He wants to fence it with 2
rounds of rope at the rate of Rs. 10 per metre. Find the cost of fencing. /

ABAT & 9 210 Hex o« 3ix 165 Hex =@id v FAaHR dreE 1 a8 10 39 ufq Aler AT R
¥ T F 2 W F A q0F FMT ATgAT §1 G5 A A AR AT B

1. Rs 15000 / 15000 Tu
2.Rs 7500 / 7500 ¥4
3.Rs 6930 / 6930 sud

4. Rs 693000 / 693000 ¥4

Correct Answer :-

« Rs 15000 / 15000 Tur

37) 1If the perpendicular distance of a point from y-axis is 4 units, then the point has: /
IR y-eT ¥ v g B dEad g 4 5 o Rig ¥

1.y coordinate 4 / y fadans 4

2. x coordinate -4 / x faden® -4

3. x coordinate 4 / x fAEAF 4

4. x coordinate 4 or -4 / x TAEAH 4 FUaT -4

Correct Answer :-

« x coordinate 4 or -4 / x TAEAH 4 HUaT -4

38) If each of (-3,6),(0,3) and (3,0) is a solution of a linear equation

In x and y ,then the equation is: /

I 9AF (-3,6),(0,3) va (3,0) v @+ FHAHIOT x TF y A gA &, O FHIE0T T
1. y=x-3

2. y=x+3

3. xty=3

4, y+2x=0

Correct Answer :-



39) The area of the triangle whose vertices are P(2,0), Q(5,0) and R(5,2) is: /
39 e &1 &awd AT w SaEr i P2,0), Q(5,0) TERES,2) &

1. 25 units” / 25 TS

2. 6 units® / 6 SHE2

3. 4 units® / 4 SHTE2

4. 3 units? / 3 BTS2

Correct Answer :-

e 3units? /3 SHIE2

40) Which one of the following points does not lie on the line 2y = 5x-2? /
frfaf@a # @ sl fg W@ 2y = 5x-2 W Ry 7@ 2

1. (0,-1)

2. (-4,-11)

3. (-2,6)

4.(2.4)

Correct Answer :-

. (-2,6)

41) Which one of the following is not a teaching style? /
famfaf@a & & sla-dt v Ragor A a8 &2

1. Scolding / e

2. Demonstration / LR

3. Inquiry / ST/

4. Discovery / 3/=du0T

Correct Answer :-

« Scolding / Teream T



42) Which one of the following statements is false about polynomial? /
frfaf@d # § Fi9-a1 Foe 9598 F @Y F 34T

1. According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient q(x)
and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / IERISERIVEIEIR]
F R, YIS 9gUe p(x)ﬁﬂﬁ%g(x)@fﬁlﬂmmw% I HITH q(x) Td Y r(x) 39 UPR ST &
f p(x) = g(x) q(x) + r(x), ST&l r(x) B I 2 g(x) BT °Td B

2. A polynomial with degree 3 can have a maximum of 3 zeros (roots). / ©d 3 & HIY Tk gguc A AfAdaH
3 EIER) o T &

3. A polynomial with degree 2 can have a maximum of 2 zeros (roots). / €I 2 & &I Th aguc A 3P
2 YA B " B

4, If the graph of an equation intersects the x-axis at two points, then the equation has 2 zeros (roots). / If¢

U HHEOT HT AE x-378T & & g3t W wredr §, @ o # 2 7 (JqF) O

Correct Answer :-

» According to division algorithm, the dividend polynomial p(x) when divided by divisor g(x), gives quotient
g(x) and remainder r(x) such that p(x) = g(x)q(x) + r(x), where degree of r(x) = degree of g(x). / faureH
TR & AR, HTST §gUS p(x) Pl 518 HISTH g(x) I fauifora faran Sran 8, af 4FTwd q(x) Td 9 r(x) 39
UHR &l %‘ & p(x) = g(x) q(x) + r(x), CH r(x) T °ld > g(x) Hv"r‘iﬂ?r%l

43) Abscissa is also known as the )
T (1) & <o & 5t 1 AT B
1. X-axis / X - 3&7

2. Point / ﬁg

3. Ordinate / &Ife 3787

4. Y-axis / Y - 3&7

Correct Answer :-

o X-axis /X - 3&T

44) Visualizations and drawing conclusion is achieved through the study of )
FouaT IR IWiweT TSHY _ F eI F ACTHA F Iod AT F1am

1. Analytical Geometry / fA&WOTcAd FaTfAfa

2. Spatial geometry / TITfA® FATfATT

3. Algebra / drsrerioa



4. Arithmetic / 37RaTTOTd

Correct Answer :-

« Spatial geometry / TUTAH FITTATT

45) The length of the rubber tube is 44 cm. If it’s two ends are joined together, then it forms the circle.
The area of circle is: / T3 TIF A da1$ 44 FA 31 I 50&F  aR w& W 313 RE o & O 98 9
ST Bl g9 FT ST g

1. 14 cm?/ 14 32
2. 44 cm?/ 44 32
3. 154 cm?/ 154 daf?
4. 28 cm?/ 28 {2
Correct Answer :-

e 154 cm?/ 154 @3h2

46) The sum of the digits of a two-digit number is 5. If 9 is subtracted from the number, the digits
interchange their places. Then the unit digit of the number is: /

Y AP FEAT & HFT FT AT 5T I &I A @ 9 TR AGT §, A 3F WU TUA gREfdd F A
g, aY HEAT FT 5FS IF §:

1.2
2.9
3.7

4.6

Correct Answer :-

e 2

47) If the perimeter and area of a circle are numerically equal, then the radius of the circle is .
Ifg vw g9 F IR TUT SABT FEATHF T F AW ¢, A g A BreAw gl

1. 3 units / 3 3HS

2. 1 unit / 1 &S

3. 4 units / 4 3HS



4,2 units / 2 SPS
Correct Answer :-

o 2units / 2 3PS

48) “Let no one enter who is ignorant of mathematics” was stated by i
“aiffra @ s F$ it safFa vaer 7 F1” GART FET AT 7|
1. Thales / I8

2. Pythagoras / UTSUTIIRE

3. Enchid / Tafas

4. Plato / Toler

Correct Answer :-

« Plato / To¥er

49) The abscissa of the point of intersection of less than ogive and more than ogive is .

9 faFol (ogive) ¥ HH TUT A9 RFoT T 30+ F yiacded ﬁ'aj $ 85T (abscissa) gl
1. Mode / dgeleh

2. Mean / AT

3. Median / AR
4, None of the above / 3U0H & T IS el

Correct Answer :-

e Median / HTfCIHT

50) Find the odd one out. /

fawsr T+
1.<
2. =
3.0
4, #

Correct Answer :-



51) Generalisation of Arithmetic is: /
FFHIfOIT FT FHAHISOT §:

1. Algebra / drerarfora

2. Probability / UTf&epdr

3. Statistics / TTTETDT

4. Calculus / m

Correct Answer :-

+ Algebra / diSterioTd

52) A single linear equation in two variables has: /
A #H wwa R@F s g §

1. Maximum two solutions / 3f&da a1 ol

2. An unique solution / T g &

3. Infinitely many solutions / 3/&d &

4. More than 2 but less than 4 solutions / & & 31f9® fhd 4 T A &

Correct Answer :-

« Infinitely many solutions / 3id &of

53) 'Let no one who is unacquainted with geometry enter here' is connected with _____. /
g Y cafFT N swfAfe & 3oRRT &, T w@a a |, T F F&fa §
1. The Sophist School / HIfthee Thel

2. The Platonic School / Telelfele Fgel

3. The First Alexandrian School / U@l 3Tcleraligdd Ehel
4. The lonic School / 3RS Fel

Correct Answer :-

« The Platonic School / Telcifaed Fghel



54) Which of the following is considered as undefined term? /

frafaf@a & ¥ 7Y 3aNenRa 9 #@&r sar &2

1. Point / Tdig

2. Quadrilateral / ﬂgﬁiﬁ
3. Circle 7 qd

4. Prime Number / 313Tsd &A1

Correct Answer :-

55) The author of Lilavathi was: /

diamadt ¥ d@s &

1. Brahmagupta / SI&II[H

2. Aryabhatta / 3TI#EC
3. Bhaskaracharya / HTEhraTY

4. Ramanujan / AT ST
Correct Answer :-

« Bhaskaracharya / $TTERIE

56) 3m6cm="7?/
3dlcr6AH =2
1.3600 cm / 3600 ¥HT
2.360 cm / 360 T
3.306 cm / 306 A

4,.30.6cm / 30.6 @Y

Correct Answer :-

e 306 cm / 306 ¥

57) A man loses one-third of his money, then wins Rs. 10,then loses one-third of what he has, wins
Rs. 20., and finds that he has exactly what he had in the beginning .What was the amount he



originally had ? /

TP 3ATGH 3Tt 4RI BT Toh-fogTE gR Siar 8, fh 10 30 Sitddr 8, 39S a1¢ fra=1 § STa1 to-fagrs

;gﬁnm%, 20 Y Siiddr 8, 3T 3P U Ia4T g YARIRT & Forat sy & fY | 39 ury g =Ry farait
?

1. Rs.12/ 1239

2. Rs.24 /24 30

3. Rs.48 /48 3ux

4. Rs.36 /36 TuX

Correct Answer :-

o Rs.48/48 Tud

58) If the angles of a triangle are in the ratio 2: 3: 4, then the difference between the smallest and
the largest angle is. /

gfe AYS & H01 BT U 2: 3: 4 B, d T B 3N JIA TS B0 & S BT 3feR 71 B

60°

400

4.

Correct Answer :-
400

59) If a regular hexagon is having side of 12 cm , then its area is: /

ofe TH G TSy @1 Yo 12 A §, a9 39T &% §:

1562
25642
216V3

1293



Correct Answer :-
2163

60)

Which one of the following expressions is false? /

frafafad & ¥ #19-91 S Tad 22

a)9999 <1000

b)1052<1025

€)958765>957865
1.Bothaand b/auTdbaHl
2. Onlyb / &ae b

3. Bothbandc / bTd ¢ gl

4, Onlya / &dd a

Correct Answer :-

« Bothaand b/aTdbgHi



